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Logarithm Questions

Values of: log(\/giﬁ)((% — 2\/6) is:
(A) -2 (B)

o=

—
Q

S~—
[\

- Value of: (log, 58 — loggs 6) is equal to:

(A) 0 (B) 2 (C) 1

. Simplified value of expression: logg; 27 + log; 45 25 is equal to:

(A) 13 (B)3 (©) 3

Value of x satisfying: logs(log, x) =0
(A) 0 (B)1 (C) 4

- Value of: log (log; 125)

(A) 4 (B) 2 () -2

. Simplified value of expression: logg 18 + logg 2 — loga3 — logg(%) =

(A) 2 (B)1 (C)0

Simplified value of: log, 3 - logs 5 - logy 7 - log; 8 =
(A) 0 B)1 (€)3

. Value of: log(%) + log(%) + log(g) —

(A)O (B)1 (C) log(1800)

. If log,, @ = z,logs, 2a = y and log,, 3a = z, then value of (xyz — 2yz) =

(A) -1 (B) 1 (C) 0

logi 12 + logi 12 + logi 12
(A) -1 (B)1 (€)0

Value of:

Value of logs8 + log%4 — lOg9% =
(A) (B) 2 ©) 3

N
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12. Value of: 210g2(§) + log,(15) + 10g2(%) =

19. Calculate: 451°81v3(3—v6)—6logs(v3-v2)

20.
is:

(A) 0 (B) 2

z2 46249 <

21. 2(z+1)

If log, /5

(A) (-1,1+2V?2)

(C) (=1, 00)

22,
(A) (=2,-1)
(€) (=1,3)

23.

(A)5 (B) 6

The value of 5V1°8 7 — 7V/10g75 jq.

(A) log2
(o

24.

The value of 210837 _ 7logs 2 jg.

(A) log2
(©)o

25.

26. If 9a” + 4b* = 18ab, then log(3a + 2b) =

(A) log 5+ log 3 + log a + log 5b
(C) logh + loga + logb

(4) 2 (B) 1 (C) log, 3 (D) logy 5
13. g, 111+10gb ¢t TTos, 111+10gc 5 T THiog, iﬂoga - has the value of equal to:

(A) abc (B) -1 (o (D)1
14. If a = logy, 12, b = logsg 24 and ¢ = log,g 36 then 1 + abc =

(A) 2bc (B) 2bc+1 (C)be—1 (D) be+1
15. If log,(4 + logs(z)) = 3, then sum of digits of x is:

(A) 3 (B) 6 )9 (D) 18
16. Sum of all the solution(s) of the equation log,(x) + logyo(z + 2) — logyo(5x +4) = 0 is:

(A) -1 (B)3 (C) 4 (D)5
17. Product of solutions of equation |log,y(2x)| = 3 is:

(A) 2 (B) 1/2 (C) 4 (D) 1/4
18. Find the value of @ + m.

The number of real values of parameter k for which (log;g z)? — log;s = + log,4 k = 0 will have exactly one solution

—log,(x + 1), then x lies in the interval:

Solution set of the inequality logs(z + 2)(z + 4) + logy /3(z + 2) < $log 57 is:

Solution set of equation [1—log: x[+|—log: z[+2 = [3—log1 x—log1 x| is [¢, a], where a, b € N. The value of a+b is:
6 2 6 2

(€)1 (D) 4

(B) (1 -2v2,2)
(D) None of these

(B) (=2,3)
(D) (3,00)

()7 (D) 8

(B)1
(D) none of these

(B) 1
(D) none of these

(B) log5 + log 3 + log 3a + log b
(D) none of these
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27. The value of log\/i 24/ 2 24/2 is:

(A) 1§ (B)

sl
—
Q
S~—
=
—
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S~—
w‘w
L=

28. The equation log, « 4 log,(1 4+ ) = 0 can be written as:

(A)22+2—-1=0 B)z?+z+1=0
(C)az?+z—-e=0 (D) 22 +x+e=0

29. If z = log, (be), y = log,(ca) and z = log,(ab), then which of the following is correct?

AYz+y+z=1 (B)p%x"‘ﬁ"i'liz:l
(C)zyz=1 (D) none of these

30. If log, sinx — log, cosx — logy(1 — tan? 2) = —1, then o =
(A) S +g5,ne”Z B)ynr—-3%,ne”
C) 2 +35,neZ (D) none of these

31. If log, =, log, @, log, x are in A.P., where x # 1, then ¢* =
(A) (ab)ios«® (B) (ac)'os«"
(C) (ab)ioere (D) (ac)'ees
32. If 2108103V3 — gklogi1n2 thep k =
(A) & (B) 2 (C)3 (D) 2

33. The value of (0.16)1032-5(%+3%+3%+"‘+w) is:

(A) 0.16 (B) 1 (C) 0.4 (D) 4

34. If logsy 3 = x and logsy 5 = y, then log;, 8 =

(A)31—-2—y) B)z—y+1
C)1-z—y D) 2(z -y +1)

35. The solution set of log, |4 — 5z| > 2 is:

(A) (§,00) (B) (5.5

(C) (—o0,0) U (§, o0) (D) none of these

36. If log, x + log, y = 2 and 22 4+ y = 12, then the value of zy is:
(A)9 (B) 12 (C) 15 (D) 21

37. The number of roots of the equation logs / x + logs, vz = 0 is:
(A)1 (B) 2 (€)3 (D)0

38. If log, 5 = a and log; 6 = b then logs 2 is equal to:

(A) gy (B) st

(C) 2ab + ]. (D) Sab—1
39. The value of 30845 — 510843 jg:

(A)O (B)1 (C) 2 (D) none of these
40. The solution set of the inequality log0_8(10g6(wjrf)) < 01is:

(A) [-4,-2] U (8,00) (B) (—4,-3) U[8,00)

(C) (-4,-3) U (8,00) (D) none of these
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41. If y = 3! + 377! then the least value of y is:
(A) 2 (B) 6 (C)2/3 (D) 3/2

42. If zy? = 4 and logs(log, =) + log /3(logy /o y) = 1, then x equals:
(A) 4 (B) 8 (C) 16 (D) 64

43. If log, = 4+ log, y > 6, then the least value of x + y is:
(A) 4 (B) 8 (C) 16 (D) 32

44. The solution set of the inequality ﬁ > 1_2% is:

(A) (1,00) (B) (0,1logy(4/3))
(C) (=1,00) (D) (0,10g,(4/3)) U (1, 00)

45. If the equation 2% 4 4Y = 2¥ 4 4% is solved for y in terms of x where z < 0, then the sum of the solutions is:

(A) wlogy(1 —27) (B) @ +logy(1 —27)
(C) log,(1 — 2%) (D) zlog,(2* 4+ 1)

1 24 1 192 .
) __ logy is

46. The value of Tog 2 Tog 5 2

47. If logg {5 + 4logs(z — 1)} = 2, then x is equal to _____.

48. The value of x satisfying \/374+210g¢51 -

49. If log, z + log, 2 = % and log, y + log, 2 = % with x # y, then z + y =
(A) # (B) 8+ V2 (C) F (D) 8V2

50. The number N = 6log;,2 + log;, 31 lies between two successive integers whose sum is equal to _____.

Answer Key
1(C) 2@ 3((A 4 5O 6 (A 7@ 8 (A 9 (A) 10 (D)
11 (C) 12 (A) 13 (D) 14 (A) 15 (C) 16 (C) 17 (D) 18 (0.5 19 (9) 20 (C)
21 (A) 22 (B) 23 (C) 24 (C) 25 (C) 26 (D) 27 (C) 28 (A) 29 (B) 30 (A)
31 (D) 32 (B) 33 (D) 34 (A) 35 (C) 36 (C) 37 (B) 38 (D) 39 (A) 40 (C)
41 (D) 42 (C) 43 (C) 44 (D) 45 (B) 46 (3) 47 (4) 48 (1) 49 (B) 50 (7)
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